Simplifying Polynomials
@ Simplify each expression.
1) 3z(x + 5x? — 22*) =
2) 18 + 3(—2z% — 42?) — 2+ =
3) 13z(z + 2z? — 5z%) =

4) 20 + 523 — 32 — 2=

5 (—z + 32?)z =

6) (—z + 21z?)z =

7) (z — 122%)(z + 3) =

8) (x — 9z2)(z + 3) =

9) 2z(z + Tz? — 3z%) =

10) 11 + 3(—-3z® — 22%) — 4 +z =
11) (—z + 11z?)z =

12) 19 + 3(—2z® — 22%) — 2+z =

13) 15z(z + 222 — 7zt) =



Answers of Simplifying Polynomials

@ Simplify each expression.

1) 3z(x + 5x? — 22*)= —62* + 152% + 322

2) 18 + 3(—2z% — 42?) — 24+ = —62® — 122% + = + 16
3) 13z(z + 2z? — 5z*) = — 65z* + 262° + 1322

4) 20 + 5z — 32® — 2="52" — 3z% + 18

5 (—z + 3z%)x =3z® — 22

6) (—z + 21z?)z =212% — 22

7) (z — 1223)(z + 3) = —122° — 3522 + 3z

8) (z — 9z%)(z + 3) = —9z® — 2622 + 3z

9) 2z(z + Tx? — 3zt) = —62* + 1423 + 22?

10) 11 + 3(—3z® — 22?) — 44+ = —92° — 622 + = + 7
11) (—z + 112?)z = 1123 — 2?

12) 19 + 3(—2z% — 22%) — 2+ = — 62 — 622 + = + 17

13) 15z(x + 222 — Tz*) = — 105z* + 302® + 1522



